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AP Calculus AB
Unit 6 — Day 3 — Assignment

Name: Answe‘(_ KE%»* |

For exercises 1 — 6, find the value of the definite integrai. Show your algebraic work..
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Pictured to the right is the graph of a function /. In exercises 7 -~ 12, find the values of each of

the following definite integrals. If a value does not exist, explain why.
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2001 AP® CALCULUS AB
Question B

A cuble polynomial function fis defined by

Fay e 42® 4 ag® o+ br -k

whese @, b, and & are constante. T'he function fhae a local minimum at 2 = ~1. and the graph

of fhas a point of inflection at & = -
(s} Find the values of a and &.
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(b) Tf j‘& f(z)de = 32, what is the value of k7
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2002 AP® CALCULUS AB

Question 6
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Let [ be i tanction that is differentiable for all real numbers. The table above gives the values of [ and its
devivative [ for selected points 2 in the closed Interval — 85 < 0 < L5, The second derivative nf J has the

property that [ {r} e E (v S TR O 1
{a}  Ewvaluate f M{S J ()4 4 )ite. Show the work that Jeads to your answer,
du :

(bl Write an equation of the Yine tangent i the graph of [ at the poind where = = 1. Use this line o

approximate the vahie of f{1.2). [s this approddmation greater than or less than the actual value of Fieay

Uilve o resson for your answer,

{e;  Find a positive real number ¢ having the property that there must exist o value ¢ with 0 c 0.5 and

Ave & reason for FUALE OnEwWer.
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